PR "7 'O R,R° P 702

— TTAD KDY 2137 KD PR PN
We do not assess, neither for a 213 nor for a =

Overview

The rule is that for Ppr1 we are 7nw, and for 7913 213 we are not Pnw.
Concerning a ?X1 there was initially a doubt whether Pnw or 1w PX. Our
mooin will first explain the meaning of 2% 7PX, and then explain the
difference (in the ruling) between a 1713 233 and pri. This explanation will
also apply to the one who maintains that a X is like a 17731 213 that 1w PX.

— NINDN 2301 MPINPY BYYYAY BY92WNY N30 PNRY PR 'DI0NPN U
»"'w9 explained that we do not assess the value of the carcass or the
broken pieces (of the animal or items that he stole) to be considered as
payment to the original owners, so that the thief should return only the

depreciation®. We do not do this by a 213 or a 1773 -
— DY D29V DDIYN DYV NNYDY NNNA DY NON

But rather the 12131 213 must pay for a complete animal or for quality
utensils (as they were worth at the time of the 1913 [before they were
damaged]), and the broken pieces (or the carcass) belongs to the > 2u.

Mmoo anticipates a difficulty: : .
— 1220 199N G025 0 MY MY "25WP )Y NPT ) DY 9N

And even though we have established the ruling that the 2%w> P05
includes that payment can be made with o> 7w as well as with no> and

that includes even bran, so why cannot the 72131 233 return (at least) the broken utensil
to the owner as (a partial) payment, and pay (with money) only the difference?!

mooIn responds: ¢
— DY PY5 DT TUN "29NDT DIYN 1INY JI) 23)

A 9t a1 are different from 7°p°11, because it is written in the 77N
concerning a 777°13 that he should return the %13 9w 7513 (which he robbed);
we derive from these words that the object that he returns must be 913w 1w

(similar to what he robbed)
— 19290 XY 927 IN NDINN PINNY TIS 7aY5N

' Some 2°11wX1 maintain that the issue of Paw or Paw PX is only in regards to 79°21 nNRo; however concerning
the 0°72w themselves, even a 3"13 may return them as payment. N1901N, however, concurs with >"w".

* This refers to the difference between the original value and the current value of the broken item.

? Others maintain that even if the 3"1x do not have money, they are obligated to sell (the 212w or) whatever
they possess to pay 703 to the o°va.

Y amy R Yh.

3 15,83 (2"woWwn) NMY.

6 33,7 X"
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Therefore (since we interpret 713 WX to mean 713w 1°¥2) the 1213 is required
to return the stolen object (if it is intact) or the money of this 779913, and
he cannot return 17210.”

mooIn offers support for this contention .
— 9919 XYY 200D XD 190V PRY 12319 NHYWITA ¥NRYUN 199

And this is also indicated in »»2y° 7750 where he asks how we know

this rule that J91a3% X1 213% X» PRw PN -
— 01 X9 YV 02 TN Y1) 93 NN %29 0N

bnn "2 Nan a7 explained; the 7109 states abw» anw a»n (he should pay

two live ones [an extra one for 993]), but not dead ones. This means he must
pay the full value of the animal as it was when he stole it while it was alive.

The 15w continues:
— 19310 09T N2 PTI 1Y

Until now we know concerning ;72°13, that by 72°13 the 213 must pay the full

value'’, how de we know that by 779913 also, that 17135 Paw X -
— 5 9UNI T 9UN NYN 2PYUNI UNN 93 XaAN 29 9N

ban 72 RaRk "2 said the PI0D states ®13 WK 9137 AR 2w (and he shall
return the ;7913 which he stole) the words 913 9WX teach us that he must

return »13 9wX that which he stole; he must return the entire object (or the entire
value of the object without deducting the 0°72w).

mooIN continues to explain the difference between 12131 213 (where the rule is that 2w 1°X)
and P11 (where the rule is 11w):
— 092 MY INIINYI 7991 137 19 2307 NPV 199

And this is the reason for the difference''; for a 913 2313 acquired
ownership, of the object they stole'’, immediately’®, when they took it
away from the possession of the owners. Therefore, since they stole and

7 Returning the monetary value of the object is equivalent of returning the object (if the object is not intact)
[for with the money he can replace the object]; however returning 703 M (the o°72w) which entails a
certain bother (on the part of the 0°?¥2) to sell them etc., is not the equivalent of returning the object.

S X" R"D,

° The P105 in 3,23 (2°LOWn) MW reads: D7W° D°IW DN AW T¥ AN 7Y NWA 72337 1772 RXAN R¥AT OX

19 The obw» ooaw o0 P09 is discussing a 112°13, where there is a 795 21°11; however by n172°13 where there is no
593 the ruling may be that 12137 Paw.

"' See “Thinking it over’ # 1. Others explain that X2y 1 is referring to the rule of 17137 79°21 nfd (see
footnote # 1). See y75 11°27 N1dOIN and 73 73"72 7"W MR >"5a.

"2 This does not mean that the 3" actually own the stolen item; for they cannot be w*7pn it, and they are
also required to return it to the owner if it is intact. Rather it means that they own it to the extent that they
are obligated to pay for it even if it was destroyed 01R2 (similar to a 7%W; see later in this N19oN).

" The obligation of a 3" to pay does not begin when they damaged the item (as by a pi»; which is a 21n
1PnY2wn); but rather as soon as they stole it (for it is a 72w 2vn). Therefore they are required to restore a
complete item (or its value) as it was when they stole it. See following footnote # 14.
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acquired the entire object (illegally), they are required to make full restitution (regardless
of the condition of this item)”.
— POV 195 NON 2NN XD 71 HaN

However the damager was never liable for the entire object (he did not
acquire the object), but rather his liability is limited to the amount he

damaged. Therefore all he pays for is the difference in price of what the object was
worth originally, and what its present value is. That is the entire extent of his liability.

mooIn uses this explanation to clarify an additional issue: s
— INIVY N TTHNNT INNDT NRYL 1M

And the aforementioned is (also) the reason for the one who maintains

that also by a "R the rule is that Paw X (just as by a o131 233).
— 0O9¥an 190 NININY NYYUN INIPY N¥) POIIND 29NHT )%

For since a X1 is liable for P01y, it turns out that the PX10 acquired the
ownership of borrowed item'® from the moment he removed it from the

possession of the owners -
$19T1 233 135 29°HNYT NIN DINTM)

And the 5% is liable for the full monetary value of the item he borrowed,
just like a Y9731 213 who are liable for the item they stole.

Summary
A"A% 1w R means that they have to pay for the entire 72°13 with money. We

derive this from the 2’109 of oYW 0°1w 21 and 21 WK 72°137 DX WM. A
2" (and a PXW) acquires ownership in the 71%9°1, and that distinguishes them
from a pma.

Thinking it over

1. mooIn explains the difference between a 3" and a 1. Seemingly there is
no need for an explanation. There are 0°?105 which teach us that 2137 Pnw PR
191391 Why does mso1n require an explanation?!'”

2. How do we explain the view (which is the 72%7) that SRWw? PnRw?

3. According to the 7"n that XWw5 Pnw PR, what is the ruling in regards to
the other o> mw?

' The 1131 233 stole an item. They are obligated to return the item the way it was when it was stolen. If the
item itself is intact, they must return the item itself. However if it was damaged and they cannot return the
item itself, they must return the money which the item was worth when it was stolen. The obligation of a
3" to pay, may be similar to the obligation of a n? or a Mm% who must pay in cash only. See footnote # 7.
'* This refers to 27 who maintains (later in the X723) that the YXW is required to pay a X*2¥» X371,

' See previous footnote # 12.

7 See 1"nx.
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